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import sys
sys.path.append("statlib")

from misc import area

area(xy)
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import matplotlib.pyplot as plt
fig = plt.figure(Q)
ax = fig.add_subplot(1,1,1)
plt.xlim(1l, 9) # WEHEBEORE
plt.ylim(®, 9)

plt.axes().set_aspect(’equal’, ’datalim’)
poly = plt.Polygon(xy, fc="blue", edgecolor="black"
alpha=0.2)

ax.add_patch(poly)
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import sys
sys.path.append("statlib")
from misc import area

area(xy)
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import numpy as np
from scipy.stats import norm

X = np.linspace(®, 1.96, 100000)
y = np.hstack((0, norm.pdf(x), 0))
x = np.hstack((®, x, 1.96))

xy = np.vstack((x, y)).T

fig = plt.figure()

ax = fig.add_subplot(1,1,1)

plt.xlim(0, 3) # WEHEDORE

plt.ylim(0, 0.45)

poly = plt.Polygon(xy, fc="blue", edgecolor="black", linewidth=0.5,
alpha=0.2)

ax.add_patch(poly)

X = np.linspace(®, 3.0, 100000)

y = norm.pdf(x)

plt.plot(x, y)
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area(xy) # EMEE

0.47500210484811395

®.5-norm.sf(1.96) # IEMEL{E

0.47500210485177957




